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Question Number : 1 Question Id : 940918723 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the system of education that stress upon self-control and self-directed activity

1. Play-way

2. Montessori
3. Kindergarten
4. Lab school

Options:

9409182429. 1
9409182430. 2
9409182431. 3
9409182432. 4

Question Number : 2 Question Id : 940918724 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The part of the brain that mediates by acting as a bridge in transmitting signals is .....

1. Fore brain
2. Mid brain
3. Hind Brain

4 Cerebellum

Options :



9409182433. 1
9409182434. 2
9409182435. 3

9409182436. 4

Question Number : 3 Question Id : 940918725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following transmit messages to and fro from the brain through electrical signals
across the structures?

1. Synapses
2. Neurons
3. Fore brain
4, Hind brain

Options :

9409182437. 1
9409182438. 2
9409182439. 3

9409182440. 4

Question Number : 4 Question Id : 940918726 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the principle states that development proceeds from simple to complex?

1. Cephalocaudal
2. Phylogenetic
3. Ontogenetic
4. Proximodistal

Options :

9409182441. 1
9409182442. 2
9409182443. 3



9409182444. 4

Question Number : 5 Question Id : 940918727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Match List | with List I

What develops first? |Principle

A. Hands before fingers|l. Cephalocaudal

B. Arms before legs Il. Proximodistal
C. Head before trunk  |lll. Proximaodistal
D. Legs before toes IV.Cephalocaudal

Choose the correct answer from the options given below:

LA B E L D=
2. oA B G- D -
ol i Bl C =N D
4. A-ILB-N,C-1,D-IV

Options:

9409182445. 1
9409182446. 2
9409182447. 3

9409182448. 4

Question Number : 6 Question Id : 940918728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The synaptic connections are at its peak at the end of .......

1. pregnancy
2. 3 years

3. 5 years

4. 8 years
Options :
9409182449. 1

9409182450. 2



9409182451. 3
9409182452. 4

Question Number : 7 Question Id : 940918729 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sequence the order of the classical conditioning process

A IS sessssss R
B. €S .ooverecerenes CR
Cllgses UR

Choose the correct answer from the options given below

1. A B C
2 A CB
3.B,CA
4B A C

Options :

9409182453. 1
9409182454. 2
9409182455. 3

9409182456. 4

Question Number : 8 Question Id : 940918730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Improvement in language and memory indicates development in .........

1. physical domain
2. social domain

3. emotional domain
4. cognitive domain

Options :



9409182457. 1
9409182458. 2
9409182459. 3

9409182460. 4

Question Number : 9 Question Id : 940918731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the columns as per the subparts of the brain

Part of the brain|Sub parts

A. Fore brain l. Optic tectum

B. Mid brain Il. Medulla oblongata, pons and cerebellum
C. Hind brain ll. Thalamus and cerebrum

Choose the correct answer from the options given below:

1T.A-LFB-lILC -1l
2.8k B-1LC-H
SA-LB-lILC -1
4. A-N,B-LC-1
Options:

9409182461. 1
9409182462. 2
9409182463. 3

9409182464. 4

Question Number : 10 Question Id : 940918732 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one is referred as the centre for processing sensory information?

1. Fore brain
2. Mid brain
3. Hind brain
4. Cerebellum

Options :



9409182465. 1
9409182466. 2
9409182467. 3

9409182468. 4

Question Number : 11 Question Id : 940918733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Intensive swimming practice to demonstrate the skill of swimming represents which of the
cognitive element?

1. Attention

2. Retention

3. Reproduction
4. Motivation
Options :
94091824609. 1
9409182470. 2
9409182471. 3

9409182472. 4

Question Number : 12 Question Id : 940918734 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The cognition of giving human characteristics to inanimate objects is called ........

1. Transductive reasoning
2. lrreversibility

3. Animistic thinking

4. Egocentrism

Options :
9409182473. 1
9409182474. 2

9409182475. 3



9409182476. 4

Question Number : 13 Question Id : 940918735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the columns based on the characteristics of synapses in brain development:

Period Characteristics of synapses

A. Childhood |I. Formation

B. Adolescencelll. Elimination

C. Adulthood [lll. Maintenance

Choose the correct answer from the options given below:

1.A-ILB-1I,C-I
2ZA-ILB-LC-1
3A-LB-H.C-
4 A-1,B-1,C-1
Options :

9409182477.1
9409182478. 2
9409182479. 3

9409182480. 4

Question Number : 14 Question Id : 940918736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the career prospect of an individual with a dominant musical intelligence:

1. Sculptor

2. Entertainer
3. Philospher
4. Orator
Options :
9409182481. 1

9409182482. 2



9409182483. 3
9409182484. 4

Question Number : 15 Question Id : 940918737 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per Atkinson and Shiffrin model, any information enters the human mind through ........

1. long term memory
2. working memory

3. short term memory
4. sensory register

Options :

9409182485. 1
9409182486. 2
9409182487. 3

9409182488. 4

Question Number : 16 Question Id : 940918738 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Adding or condensing or integrating the stored information is referred as ............

1. Recognition

2. Reconstruction
3. Reinforcement
4, Recall

Options :

9409182489. 1
9409182490. 2
9409182491. 3

9409182492. 4



Question Number : 17 Question Id : 940918739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Match the activity with the value of play

Activity Value of Play

A. Children interact with peers |I. Emotional development (Catharsis)

B. Plays with blocks Il. Socialization

C. Shouts and cries and screams|lll. Cognitive development

Choose the correct answer from the options given below:

1T.A-ILB-MIC-1
2A-ILB-LC-1I
3A-ILEB-ILC-I
4. A-1ILB-1,C-1
Options :

9409182493. 1
9409182494. 2
9409182495. 3

940918249%6. 4

Question Number : 18 Question Id : 940918740 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Three mountain problem is a typical example for ..............

1. Classification
2. Conservation
3. Animistic thimking
4. Egocentrism

Options :

9409182497. 1
9409182498. 2
9409182499. 3

9409182500. 4



Question Number : 19 Question Id : 940918741 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process where the child starts to identify the differences and similarities between two

concepts is called ...

1. Assimilation

2. Accomodation
3. Adaptation

4. Organisation

Options :

9409182501. 1
9409182502. 2
9409182503. 3
9409182504. 4

Question Number : 20 Question Id : 940918742 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Adults job in developing self-regulated children are to provide

A. Nurturing environment

B. Positive environment

C. Discipline

D. Setting rules

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Band D only
3.B, Cand D only
4. A cand D only

Options :

9409182505. 1
9409182506. 2
9409182507. 3

9409182508. 4



Question Number : 21 Question Id : 940918743 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Match List | with List 1l

Theory/Type of play Founder

A. Recreation play  |I. Parten

B. Sensory play Il. Moritz Lazarus
C. Unoccupied play |lll. Montessori

Choose the correct answer from the options given below:

1.A-ILB-LC-1I
2A-LB-LC-1
S.A-LB-NI,C-1
4 A-1L,B-IIIl,C-1

Options:

9409182509. 1
9409182510. 2
9409182511. 3

9409182512. 4

Question Number : 22 Question Id : 940918744 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the intelligence that uses self-reflection as a learning choice

1. Naturalist Intelligence

2. Kinesthetic Intelligence
3. Interpersonal Intelligence
4. Intrapersonal Intelligence

Options :

9409182513. 1
9409182514. 2
9409182515. 3

9409182516. 4



Question Number : 23 Question Id : 940918745 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is true of learning?

1. Learning is relatively permanent change
2. Learning involves a change in behavior
3. Learning occurs through experience

4. All the three are correct

Options :
9409182517. 1
9409182518. 2

9409182519. 3
9409182520. 4

Question Number : 24 Question Id : 940918746 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

As per Atkinson and Shiffrin’s model, sequence the order of processing an information
A. Information input

B. Long term memory

C. Sensory register

D. Working memory

Choose the correct answer from the options given below

1.ADCB
2ACD, B
3ABCD

4. A, D B C
Options :
9409182521. 1

9409182522. 2



9409182523. 3
9409182524. 4

Question Number : 25 Question Id : 940918747 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In conditioning theories, the sudden reappearance of a response after a period of rest is

known as..............

1. stimulus generalization
2. stimulus extinction

3. spontaneous recovery
4, extinction

Options :

9409182525. 1
9409182526. 2
9409182527. 3
9409182528. 4

Question Number : 26 Question Id : 940918748 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Solving puzzles enhances ............ intelligence.

1. logical

2. kinesthetic
3. spatial

4. visual
Options :
9409182529. 1
9409182530. 2
9409182531. 3

9409182532. 4



Question Number : 27 Question Id : 940918749 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the cognitive skills with the age:

Age Cognitive skills

A. 3 to 4 years|l. plan ahead and engage in activities with results in mind

B. 4 to 5 years|ll. ability to carry over the lessons from one day to the next day

C. 5 to 6 years|lll. satisfying curiosity by taking things apart

Choose the correct answer from the options given below:

T.A-NLB-LC-1
2A-LB-NLC-1
2.8 B -0k € )
4 A-1LB-1,C-1
Options :

9409182533. 1
9409182534. 2
9409182535. 3

9409182536. 4

Question Number : 28 Question Id : 940918750 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Working in group does not directly facilitate one of the following disposition:

1. Concentration
2. Curiosity
3. Creativity
4. Colloboration

Options :

9409182537. 1
9409182538. 2
9409182539. 3

9409182540. 4



Question Number : 29 Question Id : 940918751 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick out a practice example that follows teacher-centered approach:

1. Demonstrating

2. Co-constructing

3. Providing clues for assistance

4. Questioning with constructive feedback
Options :

9409182541. 1

9409182542. 2

9409182543. 3

9409182544. 4

Question Number : 30 Question Id : 940918752 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The difference between what a child can achieve independently and with guidance is called

1. MKO
2. ZPD
3. LAD
4. ECD

Options :

9409182545. 1
9409182546. 2
9409182547. 3
9409182548. 4

Question Number : 31 Question Id : 940918753 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In general, early childhood indicates the period of a child from to

1. prenatal, 8 years
2. birth, 2 years

3. 3, b years

4. 6, 8 years

Options :

9409182549. 1
9409182550. 2
9409182551. 3

9409182552. 4

Question Number : 32 Question Id : 940918754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teaching children of certain calm down strategies can be initiated during

1. infancy

2. toddlerhood

3. preschool stage

4. school going stage

Options :

9409182553. 1
9409182554. 2
9409182555. 3
9409182556. 4

Question Number : 33 Question Id : 940918755 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the DAP activities with the age:

Age DAP activities

A. 3 to 4 years |l. Encourage children’s self-awareness and sense of self-concept

B. 4 to 5 years [I.Offer opportunities to assist, assign some special roles ortasks

C. 5 to 6 years |lll. Model respect and appreciation for differences

Choose the correct answer from the options given below:

LA-LB-IILC-1
LTl | L | B
3.A-IILB-1L,C-1

4. A-1IILB-1I,C-1
Options :

9409182557. 1
9409182558. 2
9409182559. 3

9409182560. 4

Question Number : 34 Question Id : 940918756 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

LAD is

1. Language Ability Device

2. Language Appear Device

3. Language Acquisition Device
4. Language Appropriate Device

Options :

9409182561. 1
9409182562. 2
9409182563. 3

9409182564. 4

Question Number : 35 Question Id : 940918757 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Shanthiniketan is a model school designed by ............

1. Rabindranath Tagore
2. Tarabai modak

3. Mahatma Gandhi

4. Gijubai Badheka

Options :

9409182565. 1
9409182566. 2
9409182567. 3

9409182568. 4

Question Number : 36 Question Id : 940918758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An understanding towards interacting with others is called as

1. intrapersonal Intelligence
2. visual Intelligence
3. spatial Intelligence
4. intrapersonal Intelligence

Options :

9409182569. 1
9409182570. 2
9409182571. 3
9409182572. 4

Question Number : 37 Question Id : 940918759 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Careful logical placement of learning materials in relation to objects/concepts and in relation
to people is called pedagogy.

1. Modeling

2. Questioning
3. Scaffolding

4. Positioning

Options :

9409182573. 1
9409182574. 2
9409182575. 3
9409182576. 4

Question Number : 38 Question Id : 940918760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Modeling or collage is an example of approach.

1. theme based approach
2. activity based approach
3. project approach

4. integrated approach
Options :

9409182577. 1
9409182578. 2
9409182579. 3

9409182580. 4

Question Number : 39 Question Id : 940918761 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Match the emotional skills with the age

Age Emotional skills
Book/Theor roposed/Characteristic,
{t ]ka y prop / (Author/Thinker/Name of Theory, etc.)
etc.
|. curiosity about differences and similarities in
A. 3-4 years :
people andhow they live
IL.they are reliable, competent and
B. 4-5 years . L o
independent within certain limits
lIl. ability to describe key attributes about
C. 5-6 years
themselves

Choose the correct answer from the options given below:

TA-ILB-1LC-1l
2ZA-ILB-1,C-I
3.A-1,B-1I,C-1
4 A-11,B-1C-1
Options :

9409182581. 1
9409182582. 2
9409182583. 3
9409182584. 4

Question Number : 40 Question Id : 940918762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The other name for narrative records is

1. rubrics

2. narrative records
3. descriptive records
4. frequency counts

Options:

9409182585. 1
9409182586. 2
9409182587. 3

9409182588. 4



Question Number : 41 Question Id : 940918763 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Empathy is a disposition

1. inborn
2. social
3. intellectual
4, interactive

Options :

9409182589. 1
9409182590. 2
9409182591. 3
9409182592. 4

Question Number : 42 Question Id : 940918764 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Order the sequence of cognitive development as proposed by Piaget
A. Sensorimotor stage

B. Formal Operational Stage

C. Concrete operational stage

D. Preoperational stage

Choose the correct answer from the options given below

1.A,B,C D

2 A B D, C
3ACDB

4 A D CEB
Options :
9409182593. 1

9409182594. 2



9409182595. 3
9409182596. 4

Question Number : 43 Question Id : 940918765 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The cognitive process by which a toddler applies the already learnt concept to a new concept

1. schemas

2. adaptation
3. assimilation
4. organisation

Options :

9409182597. 1
9409182598. 2
9409182599. 3

9409182600. 4

Question Number : 44 Question Id : 940918766 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Any child born in this world gets enmeshed within a system framework called as the
ecosystem is the assumption of

1. Jean Piaget

2. Erik Erikson

3. Urie Brofenbrenner
4. Lev Vygotsky
Options :
9409182601. 1
9409182602. 2
9409182603. 3

9409182604. 4



Question Number : 45 Question Id : 940918767 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the executive function with the skill

Executive function |Skill

A. Working memory |I. Ability to ignore, distract or resist temptations

B. Cogpnitive flexibility|ll.Able to comprehend and keep information to use later in some way

C. Inhibitory control |lIl. Think in different ways

Choose the correct answer from the options given below:

1.A-1,B-1,C-Il
2.A-11,B-,C-1I
3-A-ILB-1,C-l
4 A-1L,B-1,C-1
Options :

9409182605. 1
9409182606. 2
9409182607. 3

9409182608. 4

Question Number : 46 Question Id : 940918768 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The awareness and understanding of various aspects of thought is called as ........

1. memory

2. attention

3. metacognition
4. elaboration

Options :
94091826009. 1
9409182610. 2

9409182611. 3



9409182612. 4

Question Number : 47 Question Id : 940918769 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The concept that offers structure and support to a child in the process of learning just as
support given while constructing a building is called as .......

1. scaffolding
2. ZPD

3. MKO

4. shaping

Options :

9409182613. 1
9409182614. 2
9409182615. 3

9409182616. 4

Question Number : 48 Question Id : 940918770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Study of how people learn’ is an area of study that looks upon pedagogy as a/an

1. art

2. science

3. applied science

4. neither art nor science
Options:
9409182617. 1
9409182618. 2
9409182619. 3

9409182620. 4

Question Number : 49 Question Id : 940918771 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the columns based on the functions the various parts of the brain

Parts of the brain |Function

A. Fore brain |. Emotional centre
B. Mid brain . Executive centre
C. Hind brain I1l. Alarm centre

I\V. Social centre

Choose the correct answer from the options given below:

1.A-NLB-0C-I
2.A-W,B-I,C-I
=I5B =L C- N
4. A-I,B-1,C-1

Options :

9409182621. 1
9409182622. 2
9409182623. 3

9409182624. 4

Question Number : 50 Question Id : 940918772 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is considered as authentic assessment?

1. Formative assessment

2. Performance assessment
3. Dynamic assessment

4. Observations

Options :

9409182625. 1
9409182626. 2
9409182627. 3

9409182628. 4



Question Number : 51 Question Id : 940918773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is false of the characteristics of Piaget's stages?

1. Each stage is a structured whole

2. Some of the stages could be skipped
3. The stages are universal

4. No going back of stages

Options :

9409182629. 1
9409182630. 2
9409182631. 3

9409182632. 4

Sub-Section Number : 2
Sub-Section Id : 94091844
Question Shuffling Allowed : Yes

Question Number : 52 Question Id : 940918774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Emotional regulation is not the ability to understand emotions, assimilate emotions to

facilitate thoughts and thought processes.

1. True
2. False

Options :
9409182633. 1
9409182634. 2

Sub-Section Number : 3
Sub-Section Id : 94091845
Question Shuffling Allowed : Yes

Question Number : 53 Question Id : 940918775 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A :Learning is defined as the process that results in a relatively consistent change in

behavior
Reason R : Consistent changes may not be permanent changes
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A'is false but R is true

Options :

9409182635. 1
9409182636. 2
9409182637. 3
9409182638. 4

Question Number : 54 Question Id : 940918776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The process by which an educator displays or demonstrate a behaviour is called .......

1. Modelling

2. Positioning

3. Co-construction
4. Questioning

Options :

9409182639. 1
9409182640. 2
9409182641. 3

9409182642. 4



Question Number : 55 Question Id : 940918777 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A curriculum which gears towards principle of children’s development from general to specific

focus on

1. predictable sequences in which children attain concepts, skills, and abilities
2. physical, social, emotional, and cognitive development

3. language, arithmetic and writing readiness

4. 3 R’s, social studies, science, art, music, physical education, and health
Options :

9409182643. 1

9409182644. 2

9409182645. 3

9409182646. 4

Question Number : 56 Question Id : 940918778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The personal value or perception that a child has on himself is called

1. self-esteem

2. self-confidence
3. resilience

4. perseverance

Options :

9409182647. 1
9409182648. 2
9409182649. 3
9409182650. 4

Question Number : 57 Question Id : 940918779 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Behaviours followed by positive outcomes are strengthened, whereas
behaviours followed by negative outcomes are weakened

Reason R : The inappropriate stimulus-response connections (S-R connections) strengthen the
behaviour

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

9409182651. 1
9409182652. 2
9409182653. 3

9409182654. 4

Question Number : 58 Question Id : 940918780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Modelling as a teaching pedagogy is an implication of

1. Vygotsky Socio-cultural theory

2. Bandura's Observational thecry

3. Bruner's Ecological systems theory
4. Piaget’'s Cognitive theory

Options :

9409182655. 1
9409182656. 2
9409182657. 3
9409182658. 4



Question Number : 59 Question Id : 940918781 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The people and place that the child does not have a direct contact but still do get influenced is

1. microsystem
2. mesosystem
3. exosystem

4. macrosystem

Options :

9409182659. 1
9409182660. 2
9409182661. 3

9409182662. 4

Question Number : 60 Question Id : 940918782 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Arrange the sub-stages of Piaget's sensori-motor stage.
A. Primary circular reaction

B. Mental representation

C. Secondary circular reaction

D. Simple reflexes

E. Coordination of circular reaction

F. Tertiary circular reaction

Choose the correct answer from the options given below

1.D,C,EAFB
2D, CFEAB
3.D,ACEFB
4D, FECAB



Options :

9409182663. 1
9409182664. 2
9409182665. 3
9409182666. 4

Question Number : 61 Question Id : 940918783 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Initially, the schemas are sensorimotor actions and later followed by mental
representations.

Reason R : Schemas are referred to as the basic building blocks of thinking.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

9409182667. 1
9409182668. 2
9409182669. 3
9409182670. 4

Question Number : 62 Question Id : 940918784 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The confusions/challenges that a child faces in their day-to-day tasks is addressed by ___
pedagogy.

1. Questioning

2. Encouraging

3. Positioning

4. Problem-solving

Options :

9409182671. 1
9409182672. 2
9409182673. 3
9409182674. 4

Question Number : 63 Question Id : 940918785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The use of desirable and undesirable stimulus to change behaviour is known as .....

1. Operant conditioning
2. Classical conditioning
3. Social learning

4. Imitation

Options :

9409182675. 1
9409182676. 2
9409182677. 3

9409182678. 4

Question Number : 64 Question Id : 940918786 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Sequence the order of the four nested structure as proposed by Brofenbrenner
A. Macrosystem

B. Mesosystem

C. Exosystem

D. Microsystem

Choose the correct answer from the options given below

1.ABCD
2D,CB A
3.D,B,CA
4 A, D B C

Options :

9409182679. 1
9409182680. 2
9409182681. 3
9409182682. 4

Question Number : 65 Question Id : 940918787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

L earning occurs by observing the action of others is the assumption of .....

1. Skinner

2. Pavlov

3. Thorndike
4. Bandura

Options :

9409182683. 1
9409182684. 2
9409182685. 3

9409182686. 4

Sub-Section Number : 4

Sub-Section Id : 94091846



Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 940918788 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Schools that are open to involve parents in the learning process help children transit
successfully

1. True
2. False

Options:
9409182687. 1

9409182688. 2

Sub-Section Number : 5
Sub-Section Id : 94091847
Question Shuffling Allowed : Yes

Question Number : 67 Question Id : 940918789 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : A child in the age span of 2-7 years is said to be not self-centered

Reason R: These children believe that everyone around them thinks, feels, perceives things in
the same way as they do

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A'is false but R is true

Options :

9409182689. 1



9409182690. 2
9409182691. 3

9409182692. 4

Question Number : 68 Question Id : 940918790 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The children of early childhood years are quiet inquisitive to explore their immediate world

through skills.

1. operational

2. formal

3. sensorimaotor
4. imitation
Options:
9409182693. 1
9409182694. 2
9409182695. 3

9409182696. 4

Sub-Section Number : 6
Sub-Section Id : 94091848
Question Shuffling Allowed : Yes

Question Number : 69 Question Id : 940918791 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Perseverance and persistence are not executive functions that is required for children when

they enter pre-school.

1. True
2. False

Options :
9409182697. 1

9409182698. 2



Sub-Section Number : 7
Sub-Section Id : 94091849

Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 940918792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the most common approach that creates associations with the real world

1. Structured approach
2. Activity based approach
3. Theme based approach
4. Integrated approach

Options :

9409182699. 1
9409182700. 2
9409182701. 3

9409182702. 4

Question Number : 71 Question Id : 940918793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The approach that views ‘'mind’ as a computer is .........

1. Information Processing
2. Multiple Intelligence

3. Socio-cultural theory

4. Piaget’'s Cognitive theory
Options :

9409182703. 1
9409182704. 2
9409182705. 3

9409182706. 4



Question Number : 72 Question Id : 940918794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Short description of an event or incidents that involve one or more children is called

1. anecdotes
2. rubrics

3. checklists

4. rating scales

Options :

9409182707. 1
9409182708. 2
9409182709. 3
9409182710. 4

Question Number : 73 Question Id : 940918795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A : Working or short-term memory is referred to as the conscious part of the

human mind.

Reason R : The information in short term memory can be stored and processed actively

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. Ais false but R is true

Options :
9409182711. 1
9409182712. 2

9409182713. 3



9409182714. 4

Question Number : 74 Question Id : 940918796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child can distinguish strangers and known people by.......

1. 1 month
2. 3 months
3. 6 months
4. 12 months

Options :

9409182715. 1
9409182716. 2
9409182717. 3

9409182718. 4

Question Number : 75 Question Id : 940918797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the system of education that stress upon self-control and self-directed activity

1. Play-way

2. Montessori
3. Kindergarten
4. Lab school

Options:

9409182719. 1
9409182720. 2
9409182721.3
9409182722. 4

Question Number : 76 Question Id : 940918798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The synaptic connections are at its peak at the end of........

1. pregnancy
2. 3 years
3. 5 years
4. 8 years

Options :

9409182723. 1
9409182724. 2
9409182725. 3

9409182726. 4

Question Number : 77 Question Id : 940918799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the conscious part of the human mind

1. Long term memory
2. Working memory
3. Short term memory
4. Sensory register
Options :
9409182727. 1
9409182728. 2
9409182729. 3

9409182730. 4

Question Number : 78 Question Id : 940918800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following transmit messages to and fro from the brain through electrical signals

across the structures?

1. Synapses
2. Neurons

3. Forebrain
4. Hindbrain

Options :

9409182731. 1
9409182732. 2
9409182733.3

9409182734. 4

Question Number : 79 Question Id : 940918801 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A : Lev Vygotsky, suggests that human learning is largely a social process that
happens by means of interaction between an individual and the culture in which he/she lives.

Reason R: As a teacher, who firmly believes in social constructivist theory of Lev Vygotsky, |
would prefer collaborative projects for assessing my students

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A'is false but R is true

Options:

9409182735. 1
9409182736. 2
9409182737.3
9409182738. 4



Question Number : 80 Question Id : 940918802 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an ongoing process, day after day, week after week and year after
year for the young children?

1. Programme planning
2. Site selection

3. Staff recruitment

4. Budgeting
Options :
9409182739. 1
9409182740. 2
9409182741.3

9409182742. 4

Question Number : 81 Question Id : 940918803 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The first step in identifying children at risk with a possible disability is

=

1. interpreting evidence
2. screening

3. diagnostic testing

4. recording observation

Options :

9409182743. 1
9409182744. 2
9409182745. 3

9409182746. 4

Question Number : 82 Question Id : 940918804 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify the concepts lacking in preoperational thought stage
A. Animism

B. Conservation

C. Classification

D. Transductive reasoning

Choose the correct answer from the options given below:

1. B and C only
2. A and D only
3. A and B only
4. B and D only

Options :

9409182747. 1
9409182748. 2
9409182749. 3

9409182750. 4

Question Number : 83 Question Id : 940918805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child nodding his head in response to a telephonic conversation is an example of ........

1. animistic thinking

2. transductive reasoning
3. conservation

4. egocentrism

Options :

9409182751. 1
9409182752. 2
9409182753. 3

9409182754. 4



Question Number : 84 Question Id : 940918806 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The is an educational tool to help the early childhood educators implement the

preschool’s educational goals into practice

1. theme

2. activities

3. teaching aids
4, curriculum

Options :

9409182755. 1
9409182756. 2
9409182757. 3
9409182758. 4

Question Number : 85 Question Id : 940918807 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A : Howard Gardner assumed that the human being's cogniticn is pluralistic and

non-static.
Reason R : Children learn by interacting with adults and peers
In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. Ais false but R is true

Options :
9409182759. 1
9409182760. 2

9409182761. 3



9409182762. 4

Question Number : 86 Question Id : 940918808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is false in understanding the term ‘development’?

1. It denotes structural and physical changes
2. It denotes improved acquisition of skills
3. It is not indicative by nature

4. It is qualitative

Options :

9409182763. 1

9409182764. 2

9409182765. 3

9409182766. 4

Question Number : 87 Question Id : 940918809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the play that promotes the development of motor muscles

1. Physical Play

2. Dramatic Play

3. Adventurous Play
4. Fantasy play

Options:

9409182767. 1
9409182768. 2
9409182769. 3

9409182770. 4

Question Number : 88 Question Id : 940918810 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Constructivist theory was formulated by

1. Erik Erikson

2. Maslow

3. Sigmund Freud
4. Jean Piaget

Options :

9409182771. 1
9409182772. 2
9409182773. 3

9409182774. 4

Question Number : 89 Question Id : 940918811 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: When teacher praises your performance when you turn in the assignment on
time, you tend to turn in other assignments on time.

Reason R: It is negative reinforcement, wherein the frequency of behaviour increases as it is
followed by a rewarding stimulus.

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A'is false but R is true

Options :

9409182775. 1
9409182776. 2
9409182777. 3
9409182778. 4



Question Number : 90 Question Id : 940918812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify disposition that is greatly acquired through interactions with the environment

1. Independence
2. Creativity

3. Resilience

4. Perseverance

Options :

9409182779. 1
9409182780. 2
9409182781. 3

9409182782. 4

Question Number : 91 Question Id : 940918813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the disposition that develops with only interactions and experiences

1. Curiosity
2. Independence
3. Resilience
4. Collaboration

Options :

9409182783. 1
9409182784. 2
9409182785. 3

9409182786. 4

Question Number : 92 Question Id : 940918814 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The process of collaborative interaction between the child and the educator through which
knowledge is built on a concept is called

1. Co-construction
2. Modelling

3. Empowering

4. Scaffolding

Options :

9409182787. 1
9409182788. 2
9409182789. 3
9409182790. 4

Question Number : 93 Question Id : 940918815 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The term development refers to the progressive series of orderly and coherent
acquisition of various abilities.

Reason R: The term progressive signifies that the changes are directional that lead forward
rather than backward.

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A'is false but R is true

Options:

9409182791. 1
9409182792. 2
9409182793. 3
9409182794. 4



Question Number : 94 Question Id : 940918816 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sensory stimulations help children in learning through thinking

1. abstract

2. concrete

3. ego-centric
4. formal
Options :
9409182795. 1
9409182796. 2
9409182797. 3

9409182798. 4

Question Number : 95 Question Id : 940918817 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child’s crying behaviour in a week can be aptly assessed through

1. video tapes

2. rubrics

3. frequency counts
4. narrative records
Options :
9409182799. 1
9409182800. 2
9409182801. 3

9409182802. 4

Question Number : 96 Question Id : 940918818 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ability to express feelings in a socially approved way is called

1. self-regulation

2. emotional awareness
3. emotional maturity
4. social interactions

Options :

9409182803. 1
9409182804. 2
9409182805. 3
9409182806. 4

Question Number : 97 Question Id : 940918819 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sequence the order of the four cognitive factors that is involved in the process of social
learning

A. Retention

B. Attention

C. Motivation

D.Reproduction

Choose the correct answer from the options given below

1.C,B, D, A
2CABD
3.B,D,C A
4B ADC

Options :

9409182807. 1
9409182808. 2
9409182809. 3

9409182810. 4



Question Number : 98 Question Id : 940918820 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The principle that a child grows and change rapidly is considered for assessment in being

1. developmentally appropriate
2. educationally significant

3. culturally responsive

4. socially significant
Options :

9409182811. 1
9409182812. 2
9409182813. 3

9409182814. 4

Question Number : 99 Question Id : 940918821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The toddler's understanding that an object exists even when not present is called..........

1. make-believe play
2. object permanence
3. egocentrism

4. animistic thinking
Options :
9409182815. 1
9409182816. 2
9409182817. 3

9409182818. 4

Question Number : 100 Question Id : 940918822 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identify the concept/ concepts coined by Lev Vygotsky

A. More Knowledgable others

B. Conservation

C. Object permanence

D. Scaffolding

Choose the correct answer from the options given below:

1. B and C only
2. A and D only
3. A and B only
4. B and D only

Options :

9409182819. 1
9409182820. 2
9409182821. 3
9409182822. 4



